
C-Service 3

Slewing system Ø95-335 / 240° / p=21/19 MPa

3023011Model:L 120 V

3023011 - Slewing system Ø95-335 / 240° / p=21/19 MPa

Page 1 of 2 15.11.2021



C-Service 3

944401331  4Cylinder tube Zylinderrohr

942488022  4Piston Kolben

3028003  2Rack bar Zahnstange

942617184  2Bearing Lager

942617075  4Throttle pin Drosselzapfen

942525216  4Throttle ring Drosselring

543323007  4Circlip 30x1,2 Sicherungsring 30x1,2

823550958  4Seal Dichtung

823570989  4Locating ring Führungsring

8235519510  4Wiper ring Abstreifring

8236798011  4O-ring 98,02x3,55 O-Ring 98,02x3,55

8237101012  16Seal ring Dichtungsring

8237181613  2Seal ring Dichtungsring

8237182714  4Seal ring Dichtungsring

4126608015  2Hexagon screw M 16 x 30 8.8 Sechskantschraube M 16 x 30 8.8

4560420916  16Socket head cap screw M 10 x 60 8.8 Innensechskantschraube M 10 x 60 8.8

4562522117  32Socket head cap screw M 12 x 75 12.9 Innensechskantschraube M 12 x 75 12.9

9423685718  32Bushing Buchse

302.301.1  0Slewing system 1 No 122001-, 140001- Schwenkwerk 1 No 122001-, 140001-

Kit 94248822 Seal kit Dichtungssatz

823550958  4Seal Dichtung

823570989  4Locating ring Führungsring

8235519510  4Wiper ring Abstreifring

8236798011  4O-ring 98,02x3,55 O-Ring 98,02x3,55

8237101012  16Seal ring Dichtungsring

Pos Part No Description EN QuantityDescription DE

3023011 - Slewing system Ø95-335 / 240° / p=21/19 MPa

Page 2 of 215.11.2021


